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NUMBER SERIES, CODING AND
DECODING AND ODD MAN OUT

TRY YOURSELF _u

1. IfLOSE is coded as 1357 and GAIN is coded as 2468, what do figure 82146 for?

@) NGLAI (b) NGLIA (c) GNLIA (d) GNLA
Sol.
(@) LOSE GAI1N 22146
Llly Ll L) Henee | L)L J
1357 2468 NGLAIT

Code for 82146 is NGLAT

2. If PLAY is coded as 8123 and RHYME is coded as 49367. What will be code of MALE?

@) 6217 (b) 6198 (c) 6395 (d) 6285
Sol.
P L AY R HY ME
Ll Ll bbbt
@ e s 3™ 4 9003 67
M A L E
Hence Cﬁdc for word “MALE” lSi’ i 11' i

3.  Find out the next number in the following series 7,11,13,17,19,23,25, 297
(@) 30 (b) 31 (c) 32 (d) 33
Sol.

(b) Given series .
7,11,13,17,19, 23, 25, 29, 31

4, If HONEY is coded as JQPGA, which word is code as VCTIGVU?
(@) CARPETS (b) TRAPETS (c) TARGETS (d) UMBRELU

Sol.
. H O N E Y then VoG To s G eV
(C) +2 42 -42i42 +2 2 -2 2'-3 -2 2 D1
\ ABR AR AR\ Sa8 / Y oV A YAV AY- Yy
J Q PG A T- A RGBS

5.  Find odd man out of the following series 15, 21,63, 81,69
@) 15 (b) 21 (c) 63 (d) 81
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Sol. (d) 15, 21, 63, 81, 69
In this series only 81 is a Perfect square.

6. Find odd man out of the following series 7,9,13,17,19
(@) 7 (b) 9 () 19 (d) 13
Sol. (b)7,9,13,17,19
Since only 9 is a perfect square and not prime No. So, 9 is the odd man out.

OR, [9-7-2 @D- 7=4
13-9-4 13-11-2
17-13-4 17-13-4
19-17-2 19-17-2

Note :- If 11 is used at the place of 9, we get a perfect series.

7. Find the next number in the series: 7,23,47,119,167
(@) 211 (b) 223 (c) 287 (d)y 319

Sol.
(c) 7,23, 47,119, 167, 287

3¥-2=7

5212 =23

72 -2 =47 ;

115 2=119

13%-2=167

s 2 =287 i

8.  Which of the following is odd one 4,12,44,176, 890
(@) 4 (b) 12 (c) 44 (d) 176
Sol. (c) 4, 12, 44, 176, 890,
4x2+4=12.
12x3+6=42)
42 x 4+8=176
176 x 5+10 = 890.

9. If in a Certain language, MADRAS is code as NBESBi’, How is BOMBAY coded in that
language?
(@) CPNCBX (b) CPNCBZzZ (c) CPOCBz (d) CQOCBZ
Sol. (b)
. p R A S B O M B A Y
+JT +l“j,L ap owpoal ML ap sl onl Lol
N B E S B T C P N C B Z

10. Which of the following is odd one
(@) CEHL (b) KMPT (c) OQTX (d) NPSV
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Sol.

@

ORI e - 3k 908, = 2
MSiPsal = = 211, .13, 16,220
QS e G - N 20, 25
BaaniSEiVas -5 14" 167519, 22, ¥

e H L KOMTEE

12 11, 13,16, 20

-, \ﬁ\/ NN\

AR RS T IO N

-'So-NPSV is odd one.

11. Find the missing figures; 4,16, 36, 64, 100, ?
(a) 144 (b) 121 (c) 49 (d) 120

12. If “MADRAS?” is written as “NBESBT” then “DELHI” may be coded as:-

(a) EMMJI (b) JIFEM (c) EFMIJ (d) CDKGH
Sol. (¢)
MADR A S DEL HI
3Ll =4 000101
NBESBT  EFMIJ

13. Find the odd man out 5,10,17, 27, 37,50,65?
(@) 5 (b) 17 (c) 27 (d) 10
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Sol.

(¢) (2x2)+1=5

14.

Sol.

15.

Sol.

B3x3)+1=10
(4x4)+1=17

But (5x5)+1 # 27
(6x6)+1=37 |
So:27 is odd man out.

Complete the series 4, 16 256, 1024
(@) 32 (b) 48 (c) 64 (d) 46
(c) 4' =4

4%= 4x4 =16

*43 = Ax4x4 = 64*
4% = 4xAx4x 4 =256

4 = 4x4x4x4x4 =1024
So, the third term of the series is 64.

If “SYSTEM” is coded as 131625; then ‘TERMS’ will be coded as:-

(@) 62251 (b) 62451 (c) 64251 (d) 62415
(b)

5 Y S T E M

R N A )

3 b6 2

5
In word "TERM" "R" is different. Code of R should be different out of 1, 2, 3, 5, 6. Hence
code of R may be 0; 4, 7, 8, 9.

That is code for "TERMS" may be 62051; 62451; 62751; 62851; 62951. Clearly (b) 62451
is present in the option.

So; (b) is correct.
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HOME WORK M

1. In a certain code, RIPPLE is written as 613382 and LIFE is written as 8192. How is PILLER
written in that code?

(a) 318826 (b) 318286 (c) 618826 (d) 338816
Sol. Same as Classwork 1 : Q.24

2. In a certain code 256’ means ‘you are good’, ‘637° means ‘we are bad’ and ‘358 means
‘good and bad’. Which of the following represents ‘and’ in that code?

(@)2 (b) 5 (c) 8 (d 3
Sol.

Sol : 2 means you 6 > are

7 means we @@
ee means /§oo¢ and

3 => bad

5 => good

and —> 8

3. Find the odd man out,

1,5, 14, 30, 51,55, 91

(@5 (b) 55 (c) 51 (d) 91
Sol. Same as Classwork 1 : Q.22

4. Find the missing value in the series 0, 2, 3, 6,10,17, 28, ?, 75.

(a) 58 (b) 46 () 48 (@) 54
Sol
3 A
——O-;—Q— ;._9') Zl (ol (;J‘__.ZY,’ é t :FL
O+HAH =3
+3tt =86 =

2+6+FL1 =0

L6+ = (F
oY1 =13

o= (e (]

23+ 4L\ = 4% 3




CA Foundation E D NOVAT E

38 18,78
5 81974177173
37 40 39 38
(a) 84 (b) 87 (c) 86 (d) 85

Sol. Same as Classwork 1 : Q.33

6. Find the odd man out of the following 6, 9,15, 21,24, 26, 30.
(a)30 (b) 24 (c) 26 (d 9
Sol.

lqllgzo?[L 2l’(l Qél 30
DO Mewm po} = Q6

Zﬂte'n}élb g al(MMU‘*\#C ‘){-\3

(G
7. If HEALTH is written as IFBMUI, then how will NORTH be written in that code?
(a) OPSUI (b) GSQNM (c) FRPML (d) I1UPSO
Sol.
EDLTH 2T H
L “,, \ 1 \‘ .J',G{Neﬁb ‘ 4
S N [ch‘ex}%_d"_*
[ KMy IE 0O P5S

8. Find the wrong term in:
G4T, J10R, M20P, P43N, S90L
(a)M20P (b) P43N (c) JI1OR (d) G4T
Sol.
IEMIEACR (5 i
( N S xatiEs

DN I8

DAE  / /

Bl \& = 9xz+ Z = o
N>7M Q0 &\ o S
O — Q0xA+3 = u?
e
D f &— Ik =
U )M Wx2+ 4 =9o

2 Jiok Tp vy s
ay.
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9. Find the nextterm 1,5, 21,57
(a)105 (b) 138 (c) 121 (d) 101
Sol.

=

(2)9/32 (b) 10/17 ) 11/34 (d) 12/35

11. Find the missing term

P3C,R5F;T8I;V12L,; ?

(@)Y170 (b) X17M (c) X170 (d) X160
Sol.Same as Classwork 1: Q.11

12. Find out the odd man out in the Sequence 8, 27 64 125 216
(@) 27 (b) 64 (c) 125 (d) 216
Sol.
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13. In a certain Code Language BEAT is written as YVZG, then what will be Code for MILD?
(a) ONRW (b) NOWR (c) ONWR (d) NROW

Sol.
d & = s < : ——

e D

FEETR |
L v v U L
Y N s O LW

14. In a certain code RIPPLE is written as 613382, and LIFE is written as 8192. How will
RIFFLE be written in that code?
(a) 618892 (b) 689912 (c) 619982 (d) 629981

Sol.
N1PP ‘ ter I e
JUUTLY 0L il‘ LLdl L (.
£133%58.0 ST e 179 ou/l

L...—-f\ —

& = |

/

15. Choose the missing term in the series,

1,1, 8, 4, 27, , 64,16
(a) 27 (b) 11 (c) 9 (d) 125
Sol. o
o S N | FRRT T <

16. |If DELHI is coded as EFMII then JAIPUR is coded as
(@) JQVSBK (b) QVSKBJ (c) BJQVSK (d) KBJQVS

Sol.
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ML |

LT T Al
Next (et (et l{i\%ﬂu

17. If FRAME is coded as 0618011305 then ARISE is coded as
(@) 0118091905 (b) 0119091805 (c) 0118190905 (d) 0118091805

Sol.

| RS
0t (3 O (32109

ORIGIAC p oy i F
P AR ,TS
of [t 2Ol aid 02l

18. The mean deviation of the numbers 3, 10, 6,11,14,17, 9, 8,12 about the mean is (correct to
one decimal place).

(@) 8.7 (b) 4.2 (c) 3.1 (d) 9.8
Sol.
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19. The consumer price index goes up from 120 to 180 when salary goes up from 240 to 540,
what is the increase in real terms?

@) 80 (b) 150 © 360 d) 240
Sol. .
L
Titnie, 2BUO
oL 2 o
Q ~ Auo xlos = 809

(20

I Logteut Y aut.
Tiatowe. = 540
i, — o

Tiacons =~ Guo_Xlgo = 300
(Do

LI freede gin Dsaf Tuwone = 00 —~ 1G0
= [uD

° (w)

20. The wrong term in the series 225,196,169,144,121,100,77, 64, is,
(€)) 121 (b) 77 (c) 100 (d) 169
Sol.

5, 196, 161, (U4 (1 (e, 93, 6y
/a(io_v\}TLvm = 2% {b)

21. If CLOCK is coded as 34235 and TIME as 8679, then MOTEL is coded as

(@) 27894 (b) 72964 (©) 72894 @) 77684
Sol.
" Solution : (¢) 18 correct
BCEL=0-..C."K

O < (1]

M
=i
7/

N — O
00 =
O <« o
B o

T I M
R o
e D 8516457

22. If MOUSE is coded as 34651 and KEY is coded as 217, then how will YES be coded?
(@) 715 (b) 517 (c) 175 (d) 571
Sol.
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KEY YR D
CoLl R S R
25k 715

23. What comes at the last place in R, U, X, A, D, ?

() E (b) F () G (d H
Sol.

Solution : (¢)

T
lUbﬂvl\'}\']

+41 43 43 +#3 4+

24. The missing term of the series 4, 13, , 49,76 is
(@) 26 (b) 28 (c) 30 (d) 32
Sol.
Solution : (b)

4, 13 49, 76

4
PRSHYS S AT A

25. Find the odd one from the following:
(@) Zebra (b) Giraffe (c) Horse (d) Tiger

Sol. (d) Tiger is the meat eating animal , But rest are grass eating animal.

26. Ifin a certain code "THANKS" is written as "SKNTHA", then how is "STUPID" written?

(@) DIPUTS (b) DISPUT (c) DIPUST (d) DIPSTU
Sol.
Solution : (d) ‘ PR

SKNTHA
! DIPSTU
First three letters ax'xhe end and last three letters at first place in reverse e

27. 9,27,31,155,161,1127, ?- Find missing number?
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(a) 1316 (b) 1135 (c) 1288 2254
Sol.
- LT NEEA T
: AN (RN L E 2
27 31 155 161 1127 57 )"
(A M Lt T =1127+8=1135

+4 x5 +6 x7  +8

28. What is the missing number in the sequence given below?
12,9,13.50, 30.375, ?, 341.71875
(@) 91.125 (b) 89.145 (c) 90.475 (d) 92.485
Sol.

9, 1350 30375 OLIS, 34171875
| | | b SR
XI5 X225 X3 B15

—

+0.75 +0.75 +0.75 +0.75

29. 7,26, 63, 124, 215, 342 ?- Find the missing number.
(@) 391 (b) 421 (c) 481 (d) 511
Sol.

0 7 o6 63 124 U218 o
O ST T e S (B 5 (2

Gl

30. In a certain code 'TELEPHONE!' is written as ENOHPELET. Then ALIGATOR is written as
(@) ROTAGILA (b) ROTAGAIL (c) ROTAGILE (d) TOTAGILA

31. In a coded language, if ‘EARTH' is written as 34215 and ‘VENUS’ is written as 730809.
What is the code for "SATURN"?

(@) 941012 (b) 941820 (c) 914281 (d) 912418
Sol.
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32. If 'FROZEN' is decoded as 'OFAPSG'. Tick the right option that depicts 'MOLTEN' written
in this way?
(a) OFPOMN (b) OFSMPN (c) OFUMPN (d) OFUNPN
Sol.

33. Find the odd man out: 34, 105, 424, 2123, 12756
@ 12756 (b) 2123 (c) 424 (dy 34
Sol. Only 2123 is divisible by 11
(b) is correct

34. Find the missing in the following series?
3,5,5,19,7,41,9, 2,11, 109
(a) 71 (b) 61 (c) 69 (d)y 79

Sol.

35. In certain code language, if TOUR is written as 1234, CLEAR is written 56784 and SPARE
is written as 90847, find the code for CARE?
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(a) 1247 (b) 4847 (c) 5247 5847
Sol.

(d) is correct

36. Find the next number in the given sequence?
11,17, 39, 85, ?, 281, 447
(@) 133 (b) 143 (c) 153 (d) 163
Sol.

37. If ROSE is coded as 6821, CHAIR is coded as 73456 and PREACH is coded as 961473,
what will be the code for SEARCH?

@) 246173 (b) 214673 (c) 216473 (d) 214763

38. The number in place of question mark in: 7, 26, 63, 124, 215, ?, 511 is:
(@) 342 (b) 343 (c) 441 (d) 421
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Sol.

39.

40.

In a certain code, MENTION is written as LNEITNO. How is PRESENT written in that
code?

(@) QFSFTUM (b) ONESERP  (c) QRESTNO  (d) OERESTN

Out of following 41, 43, 47, 53, 61, 71, 83, 95 the odd man out shall be:
@) 95 (b) 81 (c) 71 (d) 53
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41. Find the next number in the series: Q1F, S2E, UeD, W21C......... ?
@) Y66B (b) Y44B (c) Y88B (d) zeeB
Sol.
Yi | QIR SN
e —
<~y
B BT T
\_]. (E:E‘{'L
B S A
/K343
Ly 2 (Kt Y
N
42. 10,100,200, 310 ?
(@) 400 (b) (d) 430
Sol.
Sol :
°l: 10, 100, 430

|

43. 11, 13,17, 19, 23, 25, 27
(@ 33 (b)y 27
Sol.

11, 13, 17, 19,

\ J\ J J\
| |

90 100

49
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44. 2,5,9,14,7?,27

@ 20 (b) 16 € 18 d) 24
Sol.
2! 5) 9) 14; 20 27
\ J\ J\ B\ | J
| ] | )| |
3 4 5 6 7
45. 10, 18, 28, 40, 54, ?, 88
@ 70 (b) 86 c) 87 d) 98
Sol.
10, 18, 28, 40, 54, 70 88
\ J\ J\ J\ J\ | J
| | | | | |
8 10 12 14 16 18
46. 120,99, ?, 63, 48, 35
(@ 80 (b) 36 c) 45 d) 40
Sol.
e I 63, 48, 35
\ J\ J\ J\ J\ J
| | | | |
21 19 17 15 13
47. 22,24,28,36, 7,84
@) 44 (b) 52 c) 38 (d) 54
Sol.
SOL: 70 24, 28, 36, 84
\ ]\ J\ J\ J\ J
| | | | |
2 4 8 16 32
48. 10,100,200, 310, 4307
(@) 560 (b) 540 () 550 (d) 590
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Sol.
i T 100. 200 3100 430
\ J\ J\ J\ J\ )
| | | |
90 100 110 120 130
49. 28, 33, 31, 36, 34 ?
(@) 38 (b) 39 ©) 40 d) 42
Sol.
o T 33, 31, 36, 34,
\ J\ J\ J\ J\ J
| | | |
5 -2 5 2 5
50. 120, 80, 40, 45, ?, 5
@ 15 (b) 20 ©) 25 (d)30
Sol.
SOl gont Nign  igE 5
\ J\ J\ J \ J
| | |
45 35 25 15
51. 6,17, 39,7, 116
@ 72 (b) 75 c) 85 d) 80
S'ol.
eV 17, 39, 116
\ )\ )\ J\ J
| | |
11 22 33 44
52. 1,4,10,22,7, 94
(@) 46 (b) 48 ©) 49 d) 47

Sol.
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SO o 4, 10, 22, 94
\ J\ J\ J\ J\ J
| | | |

53. 4,9, 25,48, 7,169, 289, 361

@ 120 () 121 € 122 d) 164
Sol.
Sol : 5

4, 9, 25, 49, 121] 169, 289, 361

22 32 52 72 112 132 172 192
54. 1,1,4,89,7,16, 64

@ 27 (b) 28 ) 32 d) 40
Sol.
S'ol:

1, 1, 4, 8, 9, 16, 64

12 13 22 23 32 33 42 43
55. 5760, 960, 192, ? 16, 8

@) 47 (b) 48 c) 52 d) 50
Sol.
ol 5760, 960, 192, 16, 8

\ J\ J\ J\ J\ )

| | | I |
6 5 4 3 2

56. 48,2496, 2192

@@ 48 (b) 47 ) 44 d) 54
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Sol : 48, 24, 96, 192
\ J\ J\ \ J
| | |

=2 x 4 +2 x 4

57. 165, 195, 255, 285, ?, 435

(@) 345 (b) 390 (c) 335 (d) 395
Sol.
Sol :

165, 195, 255, 285, * 375
\ J\ Y J\ Y J\ J

30 60 30 60 30

58. 2,3,3,5,10, 13,39, 7?,172, 177

€) 42 (b) 44 (c) 43 (d) 40
Sol.
Sol:

172 177

www#wwwww

x 1 +2 x 2 +3 x3 +4 x4 +5

59. 7, 26, 63, 214, 215, ?, 511
(@) 342 (b) 343 (c) 441 (d) 421
Sol.

Sols 7.0 267 63,40 124" 215 511
Vi WX O LR RPN Y

23-1 33-1 43-1 5S3-1 63-1 73-1 83-1

60. 3,715, 31,7127
(@ 62 (b) 63 c) 64 d) 65
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SoL: Sy 7, 15, 31, 127
\ J\ J\ J\ N\ J
| | | | |
4 8 16 32 64
61. 6,13, 28, 59, ?
@ 122 (b) 114 € 113 d 112
Sol.
gbl:
6, 13, 28, 59, 122
)\ J J \ J
| | | |

6x2+1 13x2+2 28x2+3 59x2+4

62. 2,7,27,107,427,7

@ 1707 (b) 4027 ©) 4207 d) 1207
Sol.
SO ! 7, 27, 107, 427, 1707
J \ J \ J\ J\ J
| | | | |
2+5 7+20 27 + 80 107 + 320 427 + 1280

63. In a certain language, MADRAS is coded NBESBT, how DELHI is coded in that code?
(@) EMMJI (b)  EFMIJ (c) EMFIJ (d)  JIFEM
Sol:

M A D D E
Next
alphabet

N5, E E F

64. If BROTHER is coded 2456784, SISTER coded as 919684, what is coded for BORBERS?
(@) 2542889 (b) 2542898 (c) 2454889 (d) 2524889

Sol.

» €——x
® €<—D>
h
g{—-f_

Sol.
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-
0w
o0 € -
0 €—m
b€

HiY

N € m
v €0
ple—x
N i€ w
0 |€—m
s €
0E—0n

65. |If DELHI is coded 73541 and CALCUTTA as 82589662, How can CALICUT be coded?
€)) 5279431 (b) 5978213 (c) 8251896 (d) 8543962

Sol.

N0
wWe€—m
v &—r
s ™
0« -
N € P

0 €0
N € >
v —
- e— —
0 (€= 0O
0 C
o |€— —

66. If PALE is coded as 2134 and EARTH is coded as 41590, how is PEARL is code?
@ 29530 (b) 24153 (c) 25430 (d) 254313
Sol.

= €D
hr€—m
O €& -
O€—I

N €T
H€E—m
-
niée—
W e—r

67. If LOSE is coded as 1357 and GAIN is coded as 2468, what do figure 82146 stands for?
(@ NGLAI (b) NGLIA (c)  GNLIA (d)  GNLIA
ol.

£ OS SE
SEEENN | 1]
8135 WY

8 2 4:%6




CA Foundation

EDNOVATE

68.

(@)
Sol.

(b)

64512

(€)

54310

If MEKLF is coded as 91782 and LLLJK as 88867, how can IHJED is coded as?
97854

d) 75632

69. Ifin a certain code language NAME is written as 4258 then what is coded as MEAN ?
(a) 2458 (b) 5842 (©) 8524 (d) 5824
Sol.
M E A N
5 8 2088
70. If GOLD is written as IQNF, how WIND can be written as code?
(@ VHMC (b) VHCM (©) XJOE (d) DNIW
Sol.
Sol :
Nextto © o L D w ! N D
Next
alphabet l l l l 1’ l l l
IS QB Yier Koy 7R
71. 1f ROSE is written as TQUG, how BISCUIT can be written in that code?
(@) DKUEWKV (b) CJTDVJIJU (¢ DKVEWKYV (d) DKUEWKY
Sol.
Natto (R 0 B E B L S L
Next
S A T
QN e D K U E W K vI
72. 1f DELHI is coded as CCIDD, how would you encode BOMBAY?
@ AIMTVT (b)  AMIXVS (c) MJIXVSU (d)  WXYZAX

Sol.
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PE—
R L3
—le— 2
X
<le— »
vle— <

i

O€¢— X

:

Ne— m

i

Moved one, two, three, ..... steps backward to
obtain the corresponding letters of the code.

73. In a certain code, RIPPLE is written as 613382 and LIFE is written as 8192. How is
PILLER written in that code?

(a) 318826 (b) 318286 (c) 618826 (d) 338816
Sol.
“"HHE "B B o oroe
BN 'BE B! !
EER:ER R:-:
¥R LR
L
[3 A A s}
74. 184632
(@) MDJBSI (b) MDJBIL (0 MDJBWL (d) MDBJIL
Sol.
Sol:

S| e— =
O|le— ®
-]— =
- — w
-l e N

75. In a certain code '256' means 'you are good', '637' means 'we are bad' and '358' means
'‘good and bad'. Which of the following represents ‘and’ in that code?

(@ 2 (b) 5 () 8 d 3
Sol. Same as Homework : Q.2.

76. 1,4,9, 16, 24, 25, 36
@ 9 (b) 24 (c) 25 (d) 36
Sol

Sol:84. 484" f0) 16, @ 25, 36

Except 24, all other numbers are Perfect squares.

0Odd man out is 24.
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77. 1,4,9, 16, 19, 36, 49
(@ 19 (b) 9 (c) 49 (d) 16
Sol

Sol:4 4, 9 16, 36, 49

Except 19, all other numbers are Perfect squares.

Odd man out is 19.

78. 4,5,7,10, 14, 18, 25, 32
(@) 7 (b) 14 (c) 18 (d 33

Sol.

Sol :

a, 5, 7, 10, 14, R 25, 32
1 2 3 4 5 6 7

Odd man out is 18.

79. 52,51, 48, 43, 34, 27, 16

@@ 27 (b) 34 (c) 43 d) 48
Sol.
Sol :

52, 51, 48, 43, f;? 27, 16,
1 3 5 7 9 11

Odd man out is 34.




